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‘English Danish %

2 flutes 2 flgjter FL1,2

1 recorder (soprano) 1 blokflejte 'BLFL

1 oboe 1 0bo 0B

1 cor anglais 1 engelskhorn  |EN

2 clarinets B b 2 klarinetter Bb KL 1,2

2 bassoons 2 fagotter FG1,2

2 french horns F ‘2horn F ~ |HN1,2

1 trumpet Bb 1trompet Bb |TR

1 trombone 1 basun BS

1 tuba 1 tuba 1B

3 timpani J pauker PK

‘percussion: slagtoj:

triangle triangel TRI

cymbals * bekkener * BK

‘tamtam tamtam |TAM

'snare drum liletromme LT

snareless drum ‘tromme’ Tromme

bass drum stortromme 'STTR
|

1 harp 1 harpe _%_HP

violin 1 violin 1 VL1

'violin 2 violin 2 VL2

viola bratch VLA

cello cello VCL

'double bass kontrabas KB

The recorder only plays in the second movement, and the 2. flute is silent in the same passages.
Transposing instruments (cor anglais, clarinet, horns, trumpet) are notated at their actual pitch.

2 persons (plus a timpanist) can deal with all percussion. Quiet strokes on the cymbals should
probably be played on a suspended cymbal with a fairly soft stick (at the discretion of the player).
The snareless drum ("tromme') could be a military drum with lower frequency than the snare drum.



